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Homework:
Page 425-427

Questions: 4, 5, 7(just solve each), 8,

Page 441 #1abc
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i) x—y=—1
Jx+ 2y=12

(1) x-y=-1
y =x+1
m=1
y intercept = (0,1)

x intercept = (-1,0)

i) x=2,y=3
| \V
P 3x+2y=12
4-
(2, 3)
L2
x—y=—1/ p
02 A
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(2) 3x+2y=12

2y =-3x+12
y=-3x+6

2
m= -3/2

y intercept = (0,6)

x intercept = (4,0)
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iii) 5x + 4y =10
Sx+ 6y=0

(1) 5x +4y =10
4y = -5x + 10
y=-5x+5
4 2
m= -5/2
y intercept = (0,2.5)

X intercept = (2,0)

i) x=6,y=-5

y

2_*4}&10
X

(2) 5x+6y=0

6y = -5x

m=-5/6
y intercept = (0,0)

x intercept = (0,0)
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iv)x+ 2y= -1
2x+ y=-5

(1) x+2y=-1
2y =-x-1

X =

y=-1
2

1

2

m=-1/2

y intercept = (0,-1/2)

x intercept = (-1,0)

iv) x=-3,y=1

December 12, 2019

(2) 2x+y=-5

y=-2x-5

m= -2
y intercept = (0,-5)

X intercept = (-2.5,0)
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b) Choose one linear system from part a. Explainthe meaning of the
point of intersection of the graphs of a system of linear equations.

The coordinates of the point of intersection represent the solution of the linear system.
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Questions: Y, 5 9, 9

B =g b x=y-
) o — oY s = i
@ 54 +3s3 =i 3xv—§3 =\
QX*?)':) = 3(3_0_\3:”
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A+ YW= -0 S s
l("“")) ty=-io 335-\-(1(*3) =3
4 +ay vy = ~io et

3 L\x:.‘-]
Y = -0 -1y
‘X’:ll
3'3:» =24
3:‘8 3:)(-‘-3
Y = 1+ 3
X= 73ty ,
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5)3Qx +34 =

@ Yyx -y =-13

@ "l“x~’~3 = -3
=4 = ~4x-13
Yy = 4x+ 13

Subsitu¥e into equEhion |

2%*3\3

i

|
2x +3 (Mx+13) =

AX + 1A% + 39 = ]

X 439 -4
4% = -39
4x: -2%

Subsi tute back inte 4o see kb Y=

W= Ux 413
y= 4(2) 413
L) = -% +13

QO‘{‘K L
@ AX *3y = 5

® iXty =-5
(5:. ~4x -5
&X+3L3 =5
ax+ 3(-Yx-5) =5

AX = 1dx+ 15 =5

~10x +i5 =5
-l0x = 5-15
-lox=z -io

=1l
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C) ®7<+Qj =13
@QX ——33: =1
® Xfa\j = l3

Suky i %M’h&
3%-33 :.-(i

L (-9’\3.“3) ‘35 = =5

& ‘i«j + Ak =34 -9

":}3 +ab = -q
~3y=-9-20
a-:',‘:‘}: ~35

b x
X= -3y +13
X=-2(5) +13
o= -—’I() t13
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HOsx+y =%
©5'x+33 =13

@ 37(%-5 =3

Sullr unle %»o;ﬁ&\«a.

S)C+Qt3;l3

5x +2, (-3x -\’k) =13

5% = lox +14 =13
TR R =g

-x = 13~iy

3
4= -3x+3
4= -301) +%
S A an
= -y
X=l | y=-y
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g
cé_;c_-:s:?_

bx _by _ 1
o ——
Ax -3y = |2
@ X% *33 =172

) 16x +C13:_;\2_

@ i 8 -3&5 = 12
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9) AX + 2y = -4 -12.% -\-1\32'-2.‘1
L{x+y = -2) Y {-3x +y = -0)
XAdcs =2
1
"3')(4-5:'@
® ‘X.i-%j = -2
X:‘j‘L
At e @
_3X+3;’b Sl ~=3 R v
A X: -3“1
e ks Xz~ (-3)
3y 16 v+ 4 z-¢ : .
X= 3,
Lh:) o = -b @

4y = -12

g -3
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'@G}F-i—n: 1 36

“‘(\8(0 -—n} =9y

h~\8(¢’+n = 9K

an =g =94
In =94 eg
IN= Q%0
Nn= lyo

@) =z 1%b-n

r< ¢ 6 - (190)
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“) ®Qi + AW = 5Y4p

LS

@ l-to =90

Q} a4+ dw =54p

Q(‘i()w.)) +3w =540
130 +300 4 2, =54
e e s

MW = 540,

Yoo = 260

=9 43
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‘LO'P ta = 85
®

Ol ptroldaz B8

@ pta =%5

@ O"(OP "_O'L‘C\:Sg

O‘(L) ('C\*SS) "f'C)qQ =39

“0.ba +51 +0.4q = 3%
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Assignment #1 Sub Date

Solve each system by substitution.

1) 5x—-4y=13 2) —x—-8y=17
x+5y=10 3x+y=-24

3) 5x+3y=5 4) Sx+4y=-24
x—4y=-18 3x+y=11

5) Sx-T7y=-16 6) 8x—-Ty=7
x+y=-8 2x+y=-1

7) x+8y=-6 8) x—3y=-20
—2x-T7y=3 S5x—-y=-16

9) Tx+3y=-7 10) y=3

4x+y=-9 4x+5y=15

© 2019 Kuta Software LLC. All rights reserved. Made with I nfinite Algebra I .





Answers to Assignment #1 Sub

1) (-5,3) 2) (7,-3) 3) (2,5) 4) (4,-1
5) (-6, -2) 6) (0,-1) 7 (2,-1) 8) (-2,6
9) (-4, 7) 10) (0, 3)

© 201 9 Kuta Software LLC. A1l rights reserved.

Made with Infinite Algebra 1.
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